SEBE: AXS R
SMERSTE (B
fRHER AXS6

2 x M2.5 x 0.45 #2203 3
: BN 2XM3X 05

J 1 5 k105 (eomiThe B ®)
e mm
o 6
P B ;;--‘w
L_I¥ M ER ©
£
3 6.5
K 12.5 2 x M2.5 x 0.45 $RE0IR 3

i g R DR AR

JrsATRE AR B

18 WiliifrREV AR E N x M3 x 0.5 SB417% 4

55 3
4 x M2.5 x 0.45 LR 3.5
] 4o 0| g
of i | b
§ i I c — BN
z ad N
| e e [y [
= AN : : ‘ Ol Ty —
£ ;O' S O 2 8 § IR 2
= o O 0 s S
0 f
[}
F 1 =
Ny N oy =
2x M3 x0.5 a5 " (5—1>x F m% -
S [aV)
@3H9 3% % 2.5 LY
I
™
wn
* _—— Q
- [aV)
Y4
Y74
(NN-1) xH G
H
}.A }_73 11 5.5 11 5.5
o [Ts}
[ () ©| ~ ~
iyl e i EW Q. T Q
@ A\ '@‘G?‘@_ 'C) L T
- 5 T T ‘CE +
3 H @ 1 B
4 NN x M4 x 0.7 W47 8
03H9 0% % 2.5 LA LB o i i
) #Hm AA #m BB
HA GA N
['e]
8
g'o
(2]
I
(3]
(mm)
B F N G H NN | GA | HA | J K M 4 2Z
AXS6-10 | 20 4 6 | 25 2 11 | 20 | 10 | 17 | 225 | 42 | 415 | 48
AXS6-20 | 30 4 6 | 35 2 21 | 20 | 10 | 27 | 325 | 52 |515| 58
AXS6-30 | 20 6 11 | 20 3 31 | 20 7 | 40 |425| 62 | 615 | 68
AXS6-40 | 28 6 13 | 30 3 43 | 30 | 19 | 50 |[525 | 84 |835| 90
AXS6-50 | 38 6 17 | 24 4 41 | 48 | 25 | 60 | 625 | 100 | 99.5 | 106




SHRA:

SMERTE (K)

AXS %I

R AXSS

2 x M3 x 0.5 M4i% 4

0% 2xM5x0.8

2 7
3.5 J | 6 K95 (rumf TR %)
< [ H I, i #
il - - % ﬁ
0 [ ~ L [T P 0
o [ S ©
38 | |7
K 146 NA x M3 x 0.5 #8147 4
3.8 7
KA 14.6
22 R B R B 4xM3x0.5 B 4
N x M3 x 0.5 ¥4 5 e 6.5 35
— - e R g
B 4
ﬁﬂlf Q A 3.—:.'4 N
#® i
& L 2
o @ — [s2] o :
® = | OB
g |4 =
= i
= T i £
ol 2
; iy
@3H9 *39% % F E)& =
N _ @
2 x M4 x 0.7 IELTE 6 12 (2 1>XF go
2
()
g 6 M
& S
Y4
Y4
(NN - 1) xH G
H
A B 13 13 6.5
I
| S BN
- N EUU—W o U
H (3] O ~ ~
| A Q G} - [SHEN oY G} LA Q
- D60 6@ o == =
B | VBH 1oF
4 .
NN x M4 x 0.7 &7 8
+0.025 (‘_’ 3 }"A B
@3H9 *39%° I (T AA {H BB
0 HA L GA #Hm #m
(mm)
S 7 N G H | NN | GA | HA | J K |KA|NA| M Z | ZZ
AXS8-10| 25 | 4 9| 28| 2 |17 | 20 [ 13 |20 [235] — | 2 | 49 | 485] 56
AXS8-20| 25 | 4 | 12 | 30 | 2 [ 12 | 30 | 85205335 — | 2 | 54 | 535 61
AXS8-30| 40 | 4 | 13 | 20 | 3 |33 | 20 | 95|39 |435| — | 2 | 65 | 645| 72
AXS8-40| 50 | 4 | 15 [ 28 | 3 | 43 | 28 [105|56 [s535] — | 2 | 83 | 825| 90
AXS8-50| 38 | 6 | 20 | 23 | 4 | 43 | 46 |245|60 |635] 825 4 | 101 [1005] 108
AXS8-75| 50 | 6 | 27 | 28 | 5 | 83 | 56 |385|96 |885[1325| 4 | 151 [1505] 158




= 5
SahiFa:

AXS %I

2-M4X0.7 B2ZE 5

. 9.5 B2 2-M5X0.8
HMERSTE (TXK)
—_ =) - UL £ L sl L o
*I-F;Egg AXS12 4.75 J | 8 ek (R TRt E )
wn
o i O
- o ©
= ~ '-é g -4 2
U 4 e oo#
5 8.5
* wx
K 85| B 8.5 z-l\fﬁo.n;zyax 5‘ _
KA 185 + (F7F275. 100mm44#4L)
Al TR R S Jei v TRE U
815 ismiiReimses s N-M4X0.7 4% 5 9 5
7 N T S A 5 M 1 IS
¢ L Tyl E - o
[ Py = /00 Z WY
N @ £l O : e)/ ;‘_} v\A SR
“ y = o
ﬁH Y =] X Ay
S = 4—-%—@‘%@5.?@ -+ & 8| & e ¥
il 0 S =
i |
& & & ) i E
el E
i
F h -
2-M5X0.8 #4175 8 @ h
40,030 <%— 1> xF 5 4-M4X0.7 18515 6
04H9 5" 1£3.5 16 3
C+>O
[}
T
© 8 M ¥
o
©
& &
Y4
zZ
(NN - 1) x H G
H 185 8.5 185 8.5
A B
o 0
s 3 MNIKE N | 2
4 m o Pany
w A4 AV
1 1 N
} 5
A B NN-M5X0.8 24 1% 10
04H9 "0 i3 5 — = HELR
HA GA
Him AA #m BB
(mm)
BS F N G H |[NN | GA |HA | | J K |[KA[NA| M Z | 2Z
AXS12-10 [ 35 | 4 |15 | 40 | 2 | 15|40 | 10| 40|25 — | 2 | 71| 70| 80
AXS12-20 | 35 | 4 [ 15 |40 | 2 | 15| 40 | 10| 40|35 — | 2 | 71| 70| 80
AXS12-30 | 35 | 4 |15 |40 | 2 | 15|40 | 10| 40| 465| — | 2 | 71| 70| 80
AXS12-40 | 50 | 4 |17 | 25 | 3 | 42| 25 | 10| 52|565| — | 2 | 83| 82| 92
AXS12-50 | 35 | 6 | 15 | 36 | 3 | 51|36 | 22| 60|665] — | 2 |103] 102 112
AXS12-75 | 55 | 6 | 25 [ 36 | 4 | 61| 72 | 43 | 85| 915[1255| 4 | 149 | 148 | 158
AXS12-100] 65 | 6 | 35 | 38 | 5 | 111 | 76 | 52 | 130 [1165[1795| 4 | 203 | 202 | 212




= =h3ELs |

SEhig&: AXS 3%
SMERTE (2|2
R AXS16

2 x M5 x 0.8 UE457% 5.5

4 x M5 x 0.8 LR 7

8, HEOR, 2-M5X0.8
55 J 1 10 FeNA3.5(Fuh T AR R)
©
—IT <
o~ 74 _ \b —
- Py é‘ 0
1Y o
i A A }'7
o ti r__j A4 \J\ T 3__*
5.5 | [10 10
K 21 \ﬁ NA x M5 x 0.8 #240% 5.5
KA 21
A TR T
37.5  RimiTREYEELEE N-M5X0.8i8zy 6 it ifeidiEs s 12 6
_________ 6
L5 =117 P
‘ ?:': L= a x cE T ‘L*
— RNk
&@ i : ! A'/ —_—r NS QA
© : | o (e
0 Ig] = s OF—E—=© s sl Bla% 13
By - pe—eere s { ee
E \_' —_
= © & ® & ®
Y =y i
@ © | &
20 s
0
il ar ey < ™
2 x M6 x 1825 10 ” <%_1>XF P
@5H9 "3 I% 4 8
- o o
+CD
T
n
0 10 M
=
0
g g
Y4
ZZ
(NN-1)xH G 24 10.5 24
H
A l.B
N
ol @
- J K=
s EER)
7S D i
J\u U 4
8 Ko D
Le
A B NN x M6 x 1 BRAUS 12
A B
HEAA
GA <
k&
g
?D
(=2}
I
n
(mm)
S F N G H |[NN|GA |HA | | J K |[KA|NA| M Z | ZZ
AXS16-10 | 35 | 4 |16 |40 | 2 | 16| 40 | 10 | 40| 29| — | 2 | 76| 75| 87
AXS16-20 | 35 | 4 | 16 |40 | 2 | 16| 40 | 10 | 40| 39| — | 2 | 76| 75| 87
AXS16-30 | 35 | 4 | 16 |40 | 2 | 16| 40 | 10 | 40| 49| — | 2 | 76| 75| 87
AXS16-40 | 40 | 4 | 16 |50 | 2 | 16|50 | 10 | 50| 59| — | 2 | 8| 85| 97
AXS16-50 | 30 | 6 | 21 |30 | 3 | 51|30 | 15| 60| 69| — | 2 |101|100| 112
AXS16-75 | 55 | 6 | 26 | 35 | 4 | 61| 70 | 40 | 85| 94 |125| 4 |151 | 150 | 162
AXS16-100| 65 | 6 | 39 | 35 | 5 [ 109 | 70 | 55 | 118 | 119 | 173 | 4 | 199 | 198 | 210
AXS16-125| 70 | 8 | 19 | 35 | 7 | 159 | 70 | 68 | 155 | 144 | 223 | 4 | 249 | 248 | 260

10.5

010.5

EmBB




= N
SEiEE: AXS &%l
SMERSTE (KD s 1
— AR S AL T FA L
*,]:}Eﬂ AXS20 2 x M6 x 1 ¥4 6.5 FEO.: 2xF(c1/8(NPT1/8,G)1/8) ‘
65 J \ | 12, BKIAS(mRELEER)
- \
e }\ ﬂ
z o & ®
HTN
i /e o6 Q-a
Eim; TR
6.5 | |12
K 25 |65 | |12 NA x M6 x 1 #8447 6.5
KA 25
465 Al LR E ek 18 6
x M5 x 0.8 B4 10
o) 6 o I : 7
el ] =i -
S
g G{ ; A O Z N\
455 S © W) s
- ®
e Y N N
3 2 PO O B—Q—6—-
£ L. g +) 8
" ;g © o R
N ﬂ:\ =
=
25 F
-] wn
+0.030 v e
o5H9 *5 %% ¥ 5 (ﬂ_1>XF #
27 2 3
2 x M6 x 1 994013 3
QO
(2}
T
Te]
0 13 M
o
0
_E‘
Y4
ZZ
(NN—-1)xH G
H 29 11.5 29 11.5
A B : :
- [
| . IPR
iz : e
00 0—o— T
| H
- —
¥ 6| A %E NN x M6 x 1 #2405 12
@5H9 *99% % 5 HA GA HmEAA #EBB
(mm)
RS F|FF| N G H |[NN|GA |HA | | J K |[KA[INA| M Z | Z2Z
AXS20-10 |50 | 40 | 4 |15 | 45 | 2 | 25|35 | 10 | 44| 31| — | 2 83| 815| 97
AXS20-20 |50 | 40 | 4 | 15 | 45 | 2 | 25|35 |10 | 44| 41| — | 2 83| 815| 97
AXS20-30 |50 | 40 | 4 |15 | 45 | 2 | 25|35 | 10| 44| 51| — | 2 83| 815| 97
AXS20-40 (60 | 50 | 4 |15 |55 | 2 | 35|35 | 10 | 54| 61| — | 2 93 | 915|107
AXS20-50 |35 | 35 | 6 | 15 |3 | 3 | 50|35 | 10| 69| 71| — | 2 [108 |1065]| 122
AXS20-75 |60 | 60 | 6 | 19 | 35 | 4 | 54| 70 | 10 | 108 | 96 | — | 2 | 147 |1455] 161
AXS20-100/ 70 | 70 | 6 | 37 | 385 | 5 |107 | 70 | 58 | 113 | 121 | 169 | 4 | 200 |1985| 214
AXS20-125/ 70 | 70 | 8 | 41 | 38 | 6 |155| 76 | 70 | 155 | 146 | 223 | 4 | 254 | 2525 268
AXS20-150/80 | 80 | 8 | 19 | 44 | 7 |195| 88 | 87 | 190 | 171|275 | 4 | 306 |3045]| 320




SzhiEE: AXS R

SMERSTE (B
R AXS25

2 x M8 x 1.2548 477 8.5

7

6 x M6 x 1 B2417% 10

012

38
89

38

212

4,18 P 042: 2 x Re 1/8 (NPT 1/8, G 1/8)
=) 8 | J I 15 R 6.5(FumfT R B4R
— [ ©
© il d \}‘\ '_i
- 1 FanY ¥
4
& h (L=
O OO
el | &L_»_ﬁ-l Qi
8 | |15
NA x M8 x 1.25 18404 8.5
K 31 x M8 x RELH
8 | |15
KA 31
N x M6 x 1 #2257 13
54.5 R AT AR R A TR R e P
- = e T R 22
2t 7o ol T
— | 1
e ! B S
L ; = NS
E = 9 |5 S
&®E o ]
= o i :
= A AR RS 2 S
ElS e
2B Py ry > = ©
N i o
Te]
F © <
26H9 '3 ¢4 6 N or [
2 x M8 x 1.25 URSLIE 15 30 2 >X 8
g'o
(=]
T
0 15 M ©
o
8 8
Z
ZZ
(NN = 1) xH G
H 34 16
<A B
I ©f -
| +~
ABE._ G} 8| ®
AN DA DA _ADA Ao
{va OO Yo—06
[aV)
3 9 £ ~
‘J' ! A LB NN x M8 x 1.25 245 16
06H9 "6 i 6 HA GA E*ﬁm:“*‘*
(mm)
= F |FF| N G H |[NN|GA |HA | | J K |KA[NA| M Z | 2Z
AXS25-10 |50 | 40 | 4 | 22 | 45 | 2 | 22| 45 | 12 | 47| 35| — | 2 | 92| 905/ 108
AXS25-20 |50 | 40 | 4 | 22 | 45 | 2 | 22| 45 | 12 | 47| 45| — | 2 | 92| 905/ 108
AXS25-30 |50 | 40 | 4 | 22 | 45 | 2 | 22|45 | 12 | 47| 55| — | 2 | 92| 905/ 108
AXS25-40 |60 | 50 | 4 | 22 |55 | 2 | 22|55 | 12 | 57| 65| — | 2 | 102 |1005]| 118
AXS25-50 |35 | 35 | 6 | 20 |35 | 3 | 55|35 [ 12| 70| 75| — | 2 |115[1135] 131
AXS25-75 |60 | 60 | 6 | 26 | 35 | 4 | 61| 70 | 33 | 90|100| — | 2 | 156 |1545]| 172
AXS25-100/70 | 70 | 6 | 32 | 35 | 5 [102| 70 | 50 | 114 | 125|162 | 4 | 197 [1955| 213
AXS25-125/75 | 75 | 8 | 40 | 38 | 6 |154| 76 | 67 | 155 | 150 | 218 | 4 | 255 |253.5| 271
AXS25-150/80 | 80 | 8 | 30 | 40 | 7 |190| 80 | 82 | 180 | 175 | 258 | 4 | 295 |2935] 311

#HmBB




SRhEE: AXSOL AT
SMERSTE (B

FRER AXS6L 77
Y4
o ]
a 5 M
n
53H9 39 ¥ 05 \ o
&-1)xF 5
2 x M3 x 0.5 4775 5 11 2 ) _
g H
10 EE &
F ® ﬁ
2 o O . © = 5hen
< eglE R N By £ : _
o ® ‘S: N4 A4 0 e
o) —
|5 FOR
O B k=
A .
& 4, 4xM2.5 x 0.45 LR 3.5
______ - - o
3

18 | nivmfTREIRRRE R

i i TR T AR

N x M3 x 0.5 YR4riE 4

o

K 125 s
2 x M2.5 x 0.45 B4 3
3] |65
.3
) 3 = R 0
0 «{-‘c:— e QST+ gi—u
S o
o] = ? iy \\31
- 2 |3 J 1|5 1 k10.5 (rsmiTRRiRae s & )
2 x M2.5 x 0.454247 7% 3
6 B N2 2xM3x0.5
wn
Qi
n
8
. HA GA 39
@3H9* Y % 2.5 ©
I
M @ © NN x M4 x 0.7 5% 8
4
R T &
- i SE +
VZ\WnY 7\ W W7\ o 4
ANZAS%) Y WY A2
T ] § o[ N~
i S IEE
Q Q
A B
= = 11 5.5
H |
T AA
(NN—1)xH G
(mm)
NS F N G H NN | GA | HA I J K M Y4 Y4
AXS6L-10 | 20 4 6 | 25 2 11 | 20 | 10 | 17 | 225 | 42 | 415 | 48
AXS6L-20 | 30 4 6 | 35 2 21 | 20 | 10 | 27 | 325| 52 |515| 58
AXS6L-30 | 20 6 11 | 20 3 31 | 20 7 | 40 |425| 62 | 615 | 68
AXS6L-40 | 28 6 13 | 30 3 43 | 30 | 19 | 50 | 525 | 84 [ 835 90
AXS6L-50 | 38 6 17 | 24 4 41 | 48 | 25 | 60 | 625 | 100 | 99.5 | 106




SRhEE: AXSOL AT
SMERSTE (B

FRER AXSSL 2z
Y4
& S
3 ! 6 M
o3H9 *09%° ¥ 3 N b
0o 3 N _ 3
' i (2 1> xF mL
2x M4 x0.7 $ELE 6 go
(2]
F & —
bR
g
B
# o = =
o B A A L7 I el o & oS ©
3 & YOO Y —@©—1H g8 = Sie 3
\o 2 @ T
= 3 b X -
o|E i B | Y [Ne%
- — o
bk 4 : i i i : .
=g T A = 1\ 4xM3x05 g 4
' 6.5 3.5
00 | v AT R N x M3 x 0.5 ALK 5 o
JEvm A TRE AR
A TRE AR R
KA 14.6
38 | 7
K .
14.6 NA x M3 x 0.5 #4075 4
38 | 7
| = '
e ) :“Fj--a ~
8| |[tEB PO = @
] & &
< - /\ o #
35 J 1 6 ®K9.5 (rvmfT iM% )
2 (|7 BN 2xM5x0.8
2 x M3 x 0.5 $22r iz 4
(s}
HA _ GA g
+0.025 2% ' +
o3HO '™ & 3 A B 2| NN x M4 x0.7 #2008
]
= o N A DL
A A AN R DR oD Y
7/ w \‘J w AY”4 w A4 i
= ISR BT
- dinE) 8 R
LA LB
H 13 6.5 13 6.5
(NN-1)xH G HE AA #m BB
(mm)
il F N G H NN | GA | HA | J K KA | NA M y4 Y44
AXS8L-10 | 25 | 4 9 | 28 | 2 [ 17 | 20 |13 |20 [285| — | 2 49 | 485 | 56
AXS8L-20 | 25 | 4 | 12 | 30 | 2 | 12 [ 30 | 85| 295|335 | — | 2 54 | 535 | 61
AXS8L-30 | 40 | 4 | 13 | 20 | 3 | 33 [ 20 | 95|39 |435| — | 2 65 | 645 | 72
AXS8L-40 | 50 | 4 | 15 | 28 | 3 | 43 | 28 |105 |56 |535| — | 2 83 | 825 | 90
AXS8L-50 | 38 | 6 | 20 | 23 | 4 | 43 | 46 |245 |60 |635 | 825| 4 | 101 [100.5 | 108
AXS8L-75 | 50 | 6 | 27 | 28 | 5 | 83 | 56 | 385 |96 |885 |1325| 4 | 151 [150.5 | 158




SRhEE: AXSOL AT

= zZ
HMERSTE (TXK) -
PR AXS12L
o o
oo} (]
[aV)
p 8 M
24H9*3%% x35 0
—— <%—1>XF %
2 x M5 x 0.8 #2405 8 16 o% 4 x M4 x 0.7 SRS 6
go =
F 2 e
< 8
=
pn i
ﬁ-&l B ® o é}tg R
= iE
i %o oY &l g g = 2l .
5 i hd i A | o RN ofT
i N
42 [ i = | e
(I-{: 1 - b L ;'?\;L/ s Ny
[N SIPEE fioo-
N x M4 x 0.7 IBZE 5
315 Al TR R RS ]
A A TRE AR JEvmA TR e B
KA 18.5
K 185 . 5 8.5
5 8.5 NA x M4 x 0.7 #2075 5
1 & - Try o}
Y=o — a IU.-.A
of I & P ; twj
L Mo ] o
n
4.75 J | 8 AR (e TR A% )
2 9.5 B N2 1 2-M5X0.8
2 x M4 x 0.7 Y240 5 -
04H9 *3%° i 3.5 HA GA go N
A B > NN x M5 x 0.8 #2475 10
— — =
e ® | —
pre—
BE S
H A DN (D 7 D + s
\":’} W \‘y \‘J \‘y 3 \‘y § 1y 1N
=N o | o (<)
R ¢ )
Q Q
A
<= H s 185 | | 85 1185 8.5
(NN — 1) x H G B AA #im BB
(mm)
RS F N G H NN | GA | HA | J K KA |[NA | M Y4 2z
AXS12L-10 | 35 | 4 15 | 40 | 2 15 | 40 | 10 | 40 | 265| — 2 71| 70 | 80
AXS12L-20 | 35 | 4 15 | 40 | 2 15 | 40 | 10 | 40 | 365| — 2 71| 70 | 80
AXS12L-30 | 35 | 4 15 | 40 | 2 15 | 40 | 10 | 40 | 465| — 2 71| 70 | 80
AXS12L-40 | 50 | 4 17 | 25 | 3 42 | 25 | 10 | 52 | 565| — 2 83 | 82 | 92
AXS12L-50 | 35 | 6 15 | 36 | 3 51 | 36 | 22 | 60 | 665 — 2 | 103 | 102 | 112
AXS12L-75 | 55 | 6 | 25 | 36 | 4 61 | 72 | 43 | 85 | 915[1255| 4 | 149 | 148 | 158
AXS12L-100| 65 | 6 | 35 | 38 | 5 | 111 | 76 | 52 | 130 |1165|179.5| 4 | 203 | 202 | 212




SRhEE: AXSOL AT

SMERSTE (B
AR AXS16L

ZZ
Z
re} o
8 <
a 10 M
o5H9 "0 % % 4 N
— N _)xF K
\s 21 2
2x M6 x 1 BB 10 8
20 - =
o
F 2 =
B
@ @ iﬂ g%
¢ & & ©
o @ = L N VN N = N I Ol o
N (€] e TS Fee BIVAN B
? = ® ; EN ' 2 S
® ;E SR ® o/ AR
% ® ﬂ y __ﬂ oy porigr !
& =i T i F
& N 6, 7 L. : s || \ax M5 x0.8BRER 7
o Nx M5 X 08 BELK © e L4 el 6
37.5 | milvmiTRE AR
A A TR R
KA 21
55,1 10 NA x M5 x 0.8 #2505 5.5
K 21
55 | 10 - ¢‘
'."‘* T - o
< ._;“- T i j..-' “’T
a . [}
— - sl‘t
©| 55 J | 10 SR8 500G T IRIRECR)
3 |11 BE N2 2xM5x0.8
2 x M5 x 0.8 #zyR 5.5
HA GA
o5H9 0% I 4 LA B NN x M6 x 1 #2407 12
6
1
? i P
Ve NN 7 W N7 N (D) EN
LA S R A O
i ; @E °E @E 2
Q Q| — —
B
’ = 24 10.5 24 10.5
(NN-1)xH G BEAA BB
(mm)
RS F N G H NN | GA | HA I J K KA | NA M 4 Y44
AXS16L-10 | 35 | 4 [ 16 | 40 | 2 6] 40 | 10 | 40| 20| — | 2 | 76| 75| 87
AXS16L-20 | 35 | 4 [ 16 | 40 | 2 16| 40 | 10 | 40| 39| — | 2 | 76| 75| s7
AXS16L-30 [ 35 | 4 [ 16 | 40 | 2 16 40 | 10 | 40| 49| — | 2 | 76| 75| 87
AXS16L-40 | 40 | 4 [ 16 | 50 | 2 16| 50 | 10 [ 50 | 59 | — | 2 | 8 | 85 | o7
AXS16L-50 | 30 | 6 | 21 | 30 | 3 51| 30 | 15 | 60 | 69 | — [ 2 [ 101 [ 100 | 112
AXS16L-75 | 55 | 6 | 26 | 35 | 4 | 61| 70 | 40 | 85 | 94 [ 125 | 4 [ 151 [ 150 | 162
AXS16L-100] 65 | 6 | 390 | 35 | 5 [ 1090 | 70 [ 55 | 118 [ 119 [ 173 [ 4 [ 199 [ 198 | 210
AXS16L-125] 70 | 8 [ 19 | 35 | 7 [ 159 | 70 | 68 | 155 | 144 | 223 | 4 | 249 | 248 | 260




= 5
SahiFa:

SMERSTE (B
AR AXS20L

AXSOL &%

Y4
Y4
_E
0 E o
n n
<t
n
@ 13 M
n
2 x M6 x 1 W8£i5 13 o5H9* ™ i 5 53
27 <%_1>XF g
25 g°
F [} —_
5 =
B e
a
3 = o o &
0 EE TN N| 3E
1 |
0|z — | S
® N ﬂ% G{ e hd = [t} 7=
©_ - oy \&
Eoal . : ] FREY ] B .
*éff} q: i oL ol | 3 Ho 3 6 x M5 x 0.8 MUK 8
I N x M5 x 0.8 #4073 10 FE AT R e 18 6
46.5 i TRE R E
i A TR R
KA 25
K 25 6.5 | 12 NA x M6 x 1 BB4E 6.5
6.5 | 12
] T X
-3 06 od i i =
s
I | B & m:
—H[R —
ol @5 J 1 12 A 145 TN AL E)
ERNILE] 4% A% 2 x Re 1/8 (NPT 1/8, G 1/8)
2xM6x 1 EIF 6.5
@5H9 "0 0% 5 =
e HA GA NN x M6 x 1 47712
6 ,_A B
4
“’.T BE- k —
- | =3 —+ -+
()
/fl“ o) /ﬂ‘“m /f;\m ’\/fl“ o T I— @
v A4 v\‘v V\‘U \IV < 4 == ®
] - L o] — L -
s 3 }E JEE D1 IE
PAH 1B 29 115 29 11.5
(NN-1)xH G EHEAA #EBE
(mm)
RS F FF N G H NN | GA | HA | J K KA | NA M Y4 Y74
AXS20L-10 | 50 | 40 | 4 | 15 | 45 | 2 25 | 35 | 10 | 44| 31| — | 2 83 | 815 o7
AXS20L-20 | 50 | 40 | 4 | 15 | 45 | 2 25 | 35 | 10 | 44| a1 | — | 2 83 | 815| o7
AXS20L-30 | 50 | 40 | 4 | 15 | 45 | 2 25 | 35 | 10 | 44| 51| — | 2 83 | 815 o7
AXS20L-40 | 60 | 50 | 4 | 15 | 55 | 2 35| 35 | 10 | 54| 61| — | 2 93 | 915 | 107
AXS20L-50 | 35 | 35 | 6 | 15 | 35 | 3 50 | 35 | 10 | 69 | 71| — | 2 | 108 [1065| 122
AXS20L-75 | 60 | 60 | 6 | 19 | 35 | 4 54 | 70 | 10 [ 108 | 96 | — | 2 | 147 [1455] 161
AXS20L-100| 70 | 70 | 6 | 37 | 35 | 5 | 107 | 70 | 58 | 113 | 121 | 169 | 4 | 200 [1985 | 214
AXS20L-125| 70 | 70 | 8 | 41 | 38 | 6 | 155 | 76 | 70 | 155 | 146 | 223 | 4 | 254 |2525 | 268
AXS20L-150 | 80 | 80 | 8 | 19 | 44 | 7 | 195 | 88 | 87 | 190 | 171 | 275 | 4 | 306 |304.5 | 320




SRhEE: AXSOL AT

SMHRTE K 2
¥R AXS25L 7
3 8
0 15 M
o
2x M8 x 1.25 WL 15 ©
K
N ISS
->-1)xF o
06HO'8 0 e -0 )
F B _
5 >
®
e © FF 'é‘ © éﬁ ® il 8
I = ] A
o | % \Lm @A) é oo o 3‘\— == o
~ i A\ A\ ¥ _@_ T o o '.]11 ®i 2
& i ~ Y
oS o ® } 2
e A IR e
HEN c\i ] 1

| e e . L] ] \exmex 1 iR 10
: S TR
545 | WmirREEE i TR i TRVt o || 7

N x M6 x 1824715 13

KA 31
8 | .15 -
K 31 NA x M8 x 1.25 84715 8.5
8 | 15
— [ " Them o
o c-)_ PP B ‘_i
‘k- W A4 V'V L?"
AR |
© i A sy !
e qRes » 1 2]
=, @
o 8 J 1 15 BRAR16.5(am TR AR R E)
4 ||16 4 112 2 x Re 1/8 (NPT 1/8, G 1/8)
2 x M8 x 1.25 HR£1{4 8.5
©
S
[=]
@6H9 30 & 6 So .
HA GA .| NNxM8x1.25 #4416
A B 5
7 = e ©
@ -

@
-

Y
A4

06.6
o011
212

®

A LB 34 |16 34 |16
H ‘ ‘
(NN - 1) x H G BEAA #EBB
(mm)
NS F FF N G H NN | GA | HA I J K KA | NA M Y4 ZZ
AXS25L-10 | 50 | 40 | 4 | 22 | 45 | 2 22 [ 45 | 12 | 47| 35| — | 2 92 | 90.5] 108
AXS25L-20 | 50 | 40 | 4 | 22 | 45 | 2 2 45 | 12 | 47| 45| — | 2 92 | 905 108
AXS25L-30 | 50 | 40 | 4 | 22 | 45 | 2 22| 45 | 12 | 47| 55| — | 2 92 | 905] 108
AXS25L-40 | 60 | 50 | 4 | 22 | 55 | 2 22 [ 55 | 12 | 57| 65| — | 2 [ 102 [1005] 118
AXS25L-50 | 35 | 35 | 6 | 20 | 35 | 3 55 | 35 | 12 | 70 | 75 | — | 2 | 115 |1135] 131
AXS25L-75 | 60 | 60 | 6 | 26 | 35 | 4 | 61| 70 | 33 | 90 [ 100 | — | 2 | 156 |[1545] 172
AXS25L-100 | 70 | 70 | 6 | 32 | 35 | 5 | 102 | 70 | 50 | 114 | 125 | 162 | 4 | 197 |1955] 213
AXS25L-125| 75 | 75 | 8 | 40 | 38 | 6 | 154 | 76 | 67 | 155 | 150 | 218 | 4 | 255 | 2535 271
AXS25L-150 | 80 | 80 | 8 | 30 | 40 | 7 | 190 | 80 | 82 | 180 | 175 | 258 | 4 | 295 |2935| 311

012






